[ Efficiency vs vertpos |

0.2

0.18
0.16
0.14
0.12

0.1
0.08
0.06

0.04f-

0.02

VS

I A
Ehl EEk LR RE R R Ry R PP PP PP
Ehl CEk B RE R R R R PP P PP PP
- e
- i HEEN E TR R
» - . o4 :
... 1 3 I P F 1Y I e
.- S P I R A s
- H +* H H
=---- S EEEE CEEEEE R T
oL | doodl o b v i
4+ PO S U teeeaeaeaas

0.95

1072

10

10

Efficiend

—=*— DQM_TT__mkFit-DQM_time_orig2
—— DQM_TT__mkFit-DQM_time_mod2

0.5

e s
T S e
T R R
0
R
O R R R
0.1Bf---erheeeeesien
I -
0.05F --vcfreeennine -

Vs

........

0.95!

[ Efficiency vs. sim PV z |

0.2

0.18F
0.16)
0.14
0.12

0.1
0.08
0.06)
0.04
0.02

o] MFENENE M

FRVS)

IIII'_J.IIIIIIIIII
a1 + IR

0.95

10




	Contents
	Page 1


